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QUESTION 1

What is the purpose of g_tcpdump command?

A. Collects traffic dump from all Active Appliances within Security Group
B. Collects traffic dump from CIN network

C. Collects traffic dump from Sync network

D. The same as tcpdump, just on Scalable Platform

Correct Answer: A

QUESTION 2

Which command should be used to restart Orchestrator service only?
A. orchd restart

B. reboot

C. service orchestrator restart

D. cpstop; cpstart

Correct Answer: A

QUESTION 3

What is the max amount of Orchestrators in Dual-site setup?
A. 2 per Security Group

B. 4 per Security Group

C.2

D.4

Correct Answer: B

QUESTION 4
What happens if the SMO Master fails?
A. The next SGM with the current lowest SGM ID assumes the role of the SMO Master.

B. The Backup SMO Master will take over in the event of a failure with the SMO Master.
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C. A failover will occur on the MHO and traffic will continue to pass.
D. The Security Group will no longer pass traffic and the issue must be resolved with the SMO Master.

Correct Answer: A

QUESTION 5

Is it possible to define distribution mode per interface?
A. Yes, only for downlink interfaces

B. No, only for the Security Group

C. Yes, only for uplink interfaces

D. Yes, for both uplink and downlink interfaces

Correct Answer: D
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